
How to get principal directions and values

Please read theorem 139 (Cesaro line integral representation)

Why we may even want to go from strain to displacement?
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Why we may even want to go from strain to displacement?

We have these functions called Airy stress functions -> we get stress solutions that are very good for many different problems 

In 3D there are 3 compatibility equations (6 strains - 3 
displacements = 3)

In 1, there is no compatibility equations. So, every reasonable 
strain can be integrated.

Motion:

We have time dependency of deformation
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Motion is a time-dependent deformation

Basically for each time we want y_t to be a deformation
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How material and spatial time rates are related?
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